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FIRST REVISION TEST - 2025
. Slandard - 21
Time: 3.00 hes PHYBICY
Farl - A
I Answer all the quostions. Choose the correcl answers
Vo o bght s lideest Broiem aalr iy & elals o pefrartivn inedog 2. 1 muaaditnurm (A% Falfy

g les ol panbiair Yansn s
(3 0. by 4% ) Loy d)
2 Whikch one of th Tolloswang 15 the natursl nanoematerial
CaY Meacock foathor by Foacock toak ) Cron of Sand d) Skein of the whas
3 The ratlo ol nvaggoishic bengh aned gpeorme el L N
n) M4 by A3 (cf 5. d; BI%
4 First eillracticn rrmvionurm clues oo ningler sl of wortth 1210 e s @t 30° Thes
wiavelength of hghl aeed is

Marks T

18x1=18%

1) 400A (W voon £) 600 A d) 7004
5 The barer potental of & sillcon dede is allrosmately
oV b O 3V c) 2 OV dy2 &

6 Anelaciricheld g gy ensls in a cefain region of space  Then the potents!

difference V=V -V, whare Vi3 the polential a1 the orgin and Y, is the potental

al x=dmis
o) 10V b)-20V (€} +20°. d) -1
7. Ilhe amplituda of thi magnetic Gekd is 3 2 1047, then ampltude of the electne
fiesldd lor o clectromannehic wives 1%
a) 100Vm' by A m ! c) OO m? @} Wnom*
B. The average binding energy of ron nuch s
a)bBeV (LY B B MeV c)BSeV d) 8.5 Me'/

0. The internal resistance of a 2.1V cell which gives a current of O 24 tnrsugh a

resistance of 10 {115
a) 0 201 () 050 ) 0 B2 dj 1004

10. In an oscillating LC ercult, the maamum chargs on the capactor is O The chargs
on the capacitor when the energy is slored cqually between the electnc and

magnelic field 15

J
Y v { "
a) b) @] ) Q
2 r Ji u V2
11. The critical angle of diamond 15
a) 37* b} 31° c) 49.8° (d)y24 4*
d by a volage of 14KV If

12 In an eleclron microscope, the electrons are accelerate
he voltage 1s changed to 224KV, then the dé Broqgle wavelength associated with

the electrons would
a) increasw by 2 imes b) decrease by 2 times

() decrease by 4 times d) increase by 4 Uimes
13 A circular coil of radius Scm and 50 lurns carries a current of 3 ampere The

magnebe dipole moment of the coil is nearty
~a)1.0Am? Q_ 2 Ay’ c) 0.5 Am’ d) 0.8 Am?
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(Z) X1l Physics
14. The charge of cathode rays particle s
a) posiiive (Bl negative c) neytral ) not oefre
15. The dielectric strength of airis
a)1x10*Vm* b)6x10*Vm” (Q3x10e v d) 9 x 10t V!
PART -B
II. Answer any six in short. Question No. 24 is compulsory. Ex2=12

16. What is corona gischarge?
? Compule the speed of the electromagnetic wave in a medium  the ampituds of
electnic and magnetic fields are 3 x 10* NC-" and 2 x 107 T respecively

18. Define electrical resistivity-

19. Stala Fleming's right hand rule.

20. What Is myopia? What is 15 remedy?

21, List oul the properties cf neutring?

22. What is Bremsstralung?

23, What do you mean by skip distance?
(23) In Young's double siit experiment, the two sits are 0.15mm 2pa1 The g™ souse

has a wavelength of 450nm. The screen is 2m away from the sz, Fo
width
PART -C
lll. Answer any six in breif. Question number 33 is compulsory. Ex3=18
25 Derive the relation between  and R for 2 sphencal moror.
Two materials X and Y are magnetised whose values of misnsty of magnetesto”
are 500 Am and 2000 Anr! respectvely |f the magnetsng fisid s 1000 A7 " Ten
which one among these materials can be 22sily magneizsd.
27 List out the 2dvantages and limitations of frequency mocuiztion
28, Write down the postulates of Bohr atom model |
20 Differentiate between Fresnel and Fraunhafer cffrachon
30. How will you induce an emf by changing the arsa encigsed by the cold
31. How is a galvanomeler converted inlo an ammetsr
32. Oblain the expression for energy stored in Ihe parais! Dats Capalidy .
97 In a transistor connected in the common bass configuration. c=0.52 =17~
Calculate the valugs of |_and |
FPART -D i,
IV. Answer all the questions. | 5:5:-:-
34 a) Calculate the electric field due 1o an electne Cpoie 2i0ng S 2x= e (CR)
b) Transistor functions as a swich, Explan |
35.a) Oblain the equation for bangwicth n Young s couble it expermmEnt .HJR;'
b) Deduce the relation for the magnetc field ala pointcus 0 20 Ffnasly o0
straight conductor camying current using Eict-Savan =w o
36.a) Write down Maxwell equations in integral fom . 4 w-l-l- 0
b) Describe the microscopic model of current and oian general form o U
law.
37.a) Explain the construction and working of transformer.
b) Obtain the law of radicactivity (OR)

38.a) Obtain lens maker's formula. o B S
b) Describe briefly Davisson - Germer expenment which demonstEias Te we
nature of electrons.
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